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QUESTION 1

Click the Exhibit button.

clusterl::> net interface show
(network interface show)

Logical Status Network Current Current 1Is
VsServer Interface Admin/oper Address/Mask Node Port Home
Cluster
clusterl-01_clusl
up/ up 169.254.38.164/16 clusterl-01 ela true
clusterl-01_clus2 169.254.68.251/16 clusterl-01 elb true
up /up
clusterl-02 clusl 169.254.43.250/16 clusteri-02 e0a true
up /up
clusteri-02_clus2 169.254,115.102/16 clusterl-02 e0b true
up /fup
clusterl clusterl-01_mgmtl 192.168.0.111/24 clusterl-01 elc true
up/up
clusterl-02 mgmtl 192.168.0.112/24 clusterl-02 elc true
up/up
cluster mgmtlup/up 1%2.168.0.101/24 clusterl-01 elc true
svml

clusterl-0l1-isecsi_1if 1
up/up 192.168.0.141/24 clusterl-01 eOc true

Referring to the exhibit, which physical are hosting the cluster interconnect interfaces on the nodes in Clusterl1?

A. e0a and e0e
B. eOa and e0Ob
C. e0Ob and e0Oc
D. eOc and e0a

Correct Answer: B

QUESTION 2

Which two objects are supported in a FlexVol volume? (Choose two.)
A. gtree

B. LUN

C. RAID group

D. aggregate
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Correct Answer: AB

QUESTION 3

You have an AFF A300 2-node cluster and are adding a FAS8200 to this cluster for additional storage capacity. You
want to move a volume to one of the FAS8200 nodes.

Which ONTAP command is used to accomplish this task?
A. volume move

B. volume rehost

C. volume aggr vacate

D. aggr relocate

Correct Answer: A

QUESTION 4

When a storage QoS policy is configured, which two metrics are configured with a maximum limit? (Choose two.)
A. TOPS

B. latency

C. MBps

D. concurrent connections

Correct Answer: BD

QUESTION 5

Which three data protocols are supported simultaneously in a single storage virtual machine (SVM)? (Choose three.)
A. InfiniBand

B. CIFS

C.iscsl

D. HTTP

E. FCP

Correct Answer: BCE

Latest NS0-159 Dumps | NS0-159 Study Guide | NS0-159 Braindumps 3/4


https://www.passapply.com/ns0-159.html
https://www.passapply.com/ns0-159.html
https://www.passapply.com/ns0-159.html

VCE & PDF https://www.passapply.com/ns0-159.html
2024 Latest passapply NS0-159 PDF and VCE dumps Download
PassApply.com

Latest NS0-159 Dumps NS0-159 Study Guide NS0-159 Braindumps

Latest NS0-159 Dumps | NS0-159 Study Guide | NS0-159 Braindumps 4/4


https://www.passapply.com/ns0-159.html
https://www.passapply.com/ns0-159.html
https://www.passapply.com/ns0-159.html
http://www.tcpdf.org
https://www.passapply.com/ns0-159.html
https://www.passapply.com/ns0-159.html
https://www.passapply.com/ns0-159.html

